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Which is correct?

C: Helives in the town centre
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A: He lives in a town centre B: He lives in town centre II

D: He lives in an town centre l
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A: Where is USA? B: Which is the biggest ocean? II
C: How far if the sun? D: Where is the Amazon river? l

Which question 1s
incorrect?
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A: Where is USA? B: Which is the biggest ocean? I
C: How far if the sun? D: Where is the Amazon river? l
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A: the Queen B: the piano l
C: the Internet D: the President Kenned l
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3: | get to a home late ‘

D: | get to a home late lI

Which sentence 1s correct?
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A: | get home late
C: I get to the home late
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Which of these shouldn’t be
used with the?

A: in the morning B: on the right
C: at the night D: in the North l
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A: in the morning B: on the right
C: at the night D: in the North l
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Which sentence i1s
incorrect?

A: The Loch Ness is in Scotland B: Loch Ness is in the Scotland II
C: ALoch Ness is in Scotland D: Loch Ness is in Scotland l
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Which sentence 1s correct?

A: The Loch Ness is in Scotland

B: Loch Ness is in the Scotland II
C: ALoch Ness is in Scotland D: Loch Ness is in Scotland .
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A: It's in Asia 3: It’s in South America .
C: It’s in Europe D: It's in the South America .I

Where 1s Venezuela?
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A: It's in Asia 3: It’s in South America

C: It’s in Europe D: It's in the South America .
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A: The Statue of Liberty B: The Hyde Park l.

Which should be used
without the?

D: The Eifel Tower
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A: | hate mice B: | hate the mice l.
C: | hate an mice D: | hate a mice l

Which i1s correct?
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A: The Hilton B: The Alps l.
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A: Pacific Ocean B: A Titanic l.
m D: A pacific Ocean l

They found Titanic in the
Pacific Ocean?
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The Japanese people love
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